W.B.C.S. PRELIM EXAM. — 2012

1. ‘Astronomy’ means study of the

(A) Moon (B) Stars (C) Sky (D) Sun Ans. (@

2. *Aural’ means

(A) Relating to the car (B) Rclating 19 the cye
(C) Relating to the air (D) Relating to the water

Ans. (.) .

3. A clever man sweeps his family scandals under
the —.

(A) Ground (B) Floor (C) Carpet (D) Grave-stone

Ans. (@9

4. A pugilist is a

(A) Boxer (B) Swimmer (C) Athlete (D) Weight-
lifter Ans. (@

5. Hike in oil price may mar the future of the
trade world.

(A) Harness (B) Help (C) Better (D) Worsen

Aus. (@)

6. Lachrymose nature means

(A) Lethargic (B) Prone 1o anger (C) Prone to
tear (D) Energetic Ans. (@

7. A gourmet loves

(A) Fashion (B) Action (C) Food (D) Films

Ans. (@

8. He sympathised him in his bereavement.

(A) In (B) For (C) With (D) By Ans. (@

9. Tortuous means

(A) Torture (B) Turn (C) Full of twists and turns

(D) Torturous Ans. (@
10. *Hold fire’ mcans
{A) To dclay doing something {B) Catch fire
(C) Prevent fire (D) Magnify Ans. (@)

11. Regicide means

(A) Murder of a [ather (B) Murder of a king
(C) Murder of a brother (D) Murder of a sister

Ans. (.

12. He tried by all means, by hook or by crook to
win the case.

(A) By any means fair or foul (B) By money
(C) By man power (D) By muscle power Ans. (.)

13. She is proficient in music but weak

(A) In study (B) At lessons (C) With study
(D} On study Ans. (@)

14. Replace the underlined part of the sentence
by any one of the four alternatives given below :

He changed his job and was out of frving pan to

{A) Happy with the job (B) Misfit (C) In a
condition from bad to worse (D) Lucky in the choice
Ans.
15. He succeeded by dint —— his hard labour.
(A) Of (B) By (C) For (D) Because  Ans. @

YIS Y Y 1

16. Fill in the blanks with the following pairs

I am going to Chennai Monday — tour.

(A) On, of (B) On, on (C) In. with (D) Of, on,

Ans. @

17. The meat of deer is called

{A) Mutton (B) Venison (C) Spoor (D) Tendil

Ans. @)

18. A manicurist takes care of

(A) Foot (B) Ear (C) Naiis (D) Mind Ans. @@

19. “Thespian art’ refers to

(A) The art of tragedy (B) The art of history
(C) The art of story telling (D) Tribal art  Ans. (@)

(Note : ALD states : Thespian = of acting or the theatre)

20. A ‘soliloquy’ means

(A) Speaking to others (B) Speaking to cneself
(C) Speaking in whispers (D) Speaking to a friend

Ans. @)

21. "Cacography’ means ‘

(A) Bad spelling (B} Good speliing (C) Incorrect
spelling (D) None of the above Ans. @)

22. Select the pair in the following options wlnch
is in opposition :

(A) Liquid - Solid (B) Enough - Adequate
(C) Entice - Lure (D) Excess - Surplus  Ans, (4

23, To take up the gauntlet means

(A) To accept the challenge (B) To refuse (C) Te
appreciate (D) To move Ans. (@

Direction for Question Mos, 24 and 25

Fill in the blank with the opriate, preposition -

24. 1 have no desire faune.

(A) Of (B) For (C) In (D) To Arns. (@)

25. There is an exception —— every rule.

(A) To (B) For (C) In (D) Up Ans. (@)

26. Who is the current Secretary General of
UNO??

(A) Kofi Annan (B) Nelson Mandela (C) Ban-Ki-
Moon (D) Hardeep Singh

TEAH AGALEA wEEida & e

(A) @I% WEW (B) GFHa Sies (C) am-fe-ge
(C) st e Ans. (@

27. In which year was the Permanent Settlement
introduced by the British in Bengal ?

(A) 1791 AD (B) 1792 AD (C) 1793 AD (D) 1794
AD

(IR T RS Aigei v araEa ebee ST

(A) 1791 (B) 1792 (C) 1793 (D) 1794  Ans. @

28. Subhas Chandra Bose was clected Congress
President for the second time in

(A) Haripura (B) Tripuri (C) Wardha (D) Patna

ST Awaa T JerErE Iy weleife Fifow
gralRle




(A) 2@+ (B) fas@e (C) swdm (D) «ibam

Ans. (@ .

29. Which institution is directly connected with
the framing of Indian monetary policy ?

{A) The Reserve Bank of India (B) The State
Bank of India (C) Life Insurance (D) Industrial
Development Bank of India .

wiaTe wifes T w9 @ 9fewm T g e

(A) faars gie e 2few (B) OF ane ww fem
(C) &m 31 for (D) erares fismee a71sE Ans. @)

¥ 30. The south castern part of the Bengal delta is
undergoing

(A) Subsidence (B) Emergence (C) Progradation
(D) None of the above

TAATRE 3% 1o wiwe-sidwie Fsfaiie om wifefee

(A) *Subsidence’ @ wesd (B) ‘Emergence’ Al
YR (C) ‘Progradation’ (D) So@re (@WGE 78

Ans. (@)

31. The secret operation by US Navy in which
Osama-bii-Laden was killed, was code named as

(A) Jesmine (B) Rose (C) Geronimo (D) Cobra

WA CTRIRTR (oem SR wire ew-fa-sme

fize T o Ansies i g
(A) &l (B) @& (C) cEaie (D) @R
Ans. @)

32. When did Lord Dalhousie annex Awadh ?

(A) 1848 AD (B) 1857 AD (C) 1853 AD (D) 1856
AD

TE SIS W Siaze s

(A) 1848 41 (B) 1857 9i: (C) 1853 Fi: (D) 1856
. Ans. @)

33. The first remote sensing satellite from India
was

(A) P6 (B) P4 (C) IRS 1A (D) CARTOSAT 1

TTCed ¥ ‘Remote Sensing Satellite” 2%

(A) P6 (B) P4 (C) IRS 1A (D) CARTOSAT 1

Ans. (C)

34. The Santhal Revolt took place in the year

(A) 1855 (B) 1857 (C)'1859 (D) 1871

ieer fruR 9y @ e

(A) 1855 (B) 1857 (C) 1859 (D) 1871 Ans. (@)

35. ‘“The Shillong Declaration’ was in news
recently on

(A) Food Security Act (B) Right to Education
Act (C) Prevention of Corruption Act (D) Right to
Information Act

Heetfe s caraen’ sisam e woifes  fama
Tl] (G & 7

(A) ¥m1 72 WiEA (B) Frem sifaer wiza (C) yaife
frranee wi%m (D) srara wfdera wiza Ans. @)

36. Which one of the following diagrams
represents the sets of Doctors, Readers and Cows ?

s M @ (B) @(C) @ (D)

oIkl
@(C)@ (D)

@ (Q)®

Ans. (@)

37. There are 2 married couples in the family of
six persons, U, V. W, X_ Y, Z, W is Wii{e of V and
mother of Z. X is grandmother of U and mother of
V. Z is granddaughter of Y. How many male members

@rc there is the family ?

(A)2(B) 3 (C) 4 (D) Cannot be determined

6 e @afb «ifdara (U, V, W, X, Y, Zj~a 26 wifs
Wz W 25 V-93 T 8 Z-93 W1 X T )93 I ¢

V-£3 W Z %5 Y-43 wrsi 1 Afaraites s s sz
FE7
(A) 2 (B) 3 (C) 4 (D) =f=tsfa Ans. @)

38. Radha is younger to Sunita but elder than
Rita. Rita is elder than Geeta. Sham is elder to Rita
but younger to Radha. Who is the youngest of all ?

(A) Rita (B) Sunita (C) Sham (D) Geeta

At e (2 fog fom 3w frer Tom 3w ==
faor 7e fog TR @6 | = Ffo e

(A) fel (B) 3@t (C) = (D) et Ans. (@)

39. Name the programme of poverty alleviation
launched by the Government of India which was
immensely benefited the rural poor

(A) Jawhar Rojgar Yojona (B) Indira Gandhi
Rural Housing Programme (C) National Rural
Employment Guarantee Programme (D) Food for
Work Programme

Wi (AR (FE OIS FARIEE (1 2iewib ol
ST UGS HLRS! STACZ?

(A) TeZa @EE @ (B) 2w @l sy
sl eew (C) Trer afla P fors g
(D) itEa ffarn 4w oew Ans. (@

40. At which place did the Union Finance
Minister Pranab Mukherjee lay the foundation stone
for a new Bank note paper mill some time back ?

{A) Surat (B) Mysore (C) Aurangabad (D) Guntur

fgfra s (e SE o YAG A @sfh
AN QAR FIET FRAER ey Srare ¢

(A) T (B) X2 (C) Bzl (D) %% Ans. (@)

41. Who was the author of the book ‘Poverty and
Un British Rule in India’ ?

(A) Surendranath Banerjee (B) Pherozshah
Mehta (C) Badruddin Tyabji (D) Dadabhai Naoroji



‘o1l WS SRR g9 3 2 @b e @y

(A) 7= S (B) Retaremirg cigel (C) angfa
oEal (D) Mk AeraifE

42. The Arya Samaj was established by

(A) Lala Lajpat Rai (B) Bal Gangadhar Tilak
(C) Dayananda Sarawati (D) Aurobindo Ghosh

(A) = FER 919 (B) 9@ siwiid foas (C) wamw
¥l (D) &l I Ans. (@

43. Global Positioning System (GPS) is used'to
measure -

(A) Depth of water (B) Position of oceanic

mincrals (C) Latitudes and longitudes (D) Circum- _

ference of the globe
*Global Positioning System (GPS) frca =ifasie ==

LT

(A) &2 sretael (B) Mud RGa@a S
(C) ==1 ¢ FRwiRe (D) ooeiesa «fdfd Ans. (@)

44. India’s third research centre at Antarctika is
named as

(A) Hind (B) Aksh (C) Bharati (D) Indraprastha

(A) &7 (B) W% (C) ©$t (D) Zm2r< Ans. (@)

45. Point out the main objective of creating
“SEZ” (Special Economic Zones) in India

(A) Creation of special tax {ree growth points in
the economy mainly to boost up exports (B) Creation
of strong industrial units which would provide
employment facilities (C) To give special preference
to some industrial units (D) None of the above

s e adtafos wge soea 37 o e

(A) g TagT Rreom Sae (ow Cefa <a1 e agii-
TRIE SIS T2 & (B) @9 Fovim wfeaal Fe 3o
&4 WICS T ATATAA R4l 2 (C) sfewz fm 2800
farera e (weql (D) ToAtaa @WvE 7

Ans. (@)

46. Who was the last Governor-General of India ?

(A) Chakravarti Rajagopalachari (B) Lord
Mountbatten (C) Rajendra Prasad (D) Maulana Abul
Kalam Azad

] -

TSR (T TeAq (TS (S e ?

(A) 5FIS] A (NAFGTEL (B) 6 WS HAH
(C) ZMEE oM (D) Gl WgE s SiEw Ans. (@)

47. “Tin Bigha Corridor’ links

(A) India and Pakistan (B) India and China
(C) India and Bhutan (D) India and Bangladesh

fon fawt sfwa’ cust FtaTR

(A) =18 ¢ #FEHE (B) ©ie ¢ b (C) siae
& GOFE (D) SIS ¢ AFNTAE

Ans. (.)

Ans. (’ ;

48. Which constitutional mechanism is adopted
for the distribution of resources between the Centre
and the States ?

(A) The Union Finance Ministry (B) The
Planning Commission (C) Indian Finance
Commission set up at the interval of five years
(D) None of the above

TS (FH 6 AN WK 57~ ey o=t @
R e B W

(A) oRre 9 WFET M (B) “Fwen sfimgmz
4w (C) sren ud Ffivw (ufe «is a2 wawa)
(D) Eoitaz (@bE 7w Ans. @

49. The Aligarh Movement was started by

(A) Syed Ahmed Khan (B} M. A. Jinnah
(C) A. K. Azad (D) Theodore Beck

A5G S ¥ I

(A) Taw wmaw ¥ (B) ¥, @, ez (0) @ .
wiEm (D) [Qetei @ Ans. (@)

50. Ombudsman Institution was originated in

(A} Denmark (B) Switzerland (C) Sweden
(D) France

"GUATGHAA FIPHOO HYT o5fas 1

(A) Ceaid (B) REEETS (C) 350e (D) T7%

Ans. (@

51. Which surface is a good absorber of heat ?

(A} White rough surface (B) Black rough surface
(C) White smooth surface (D) Black smooth surface

(W THG T TEn (<ES ?

(A) ¥ S T# (B) FI0AT STy ©A (C) T W
w5 (D) e 9H o Ans. (@

52. Aerial photographs arc studied with the help

of

(A) Microscope (B) Stercoscope (C) Parallax bar
(D) Theodolite

*Aerial Photographs’ F=fE{Re 923 wg foses
A

(A) wiEETEA (B) FHRergie (C) Ana=msam
(D) frerwEt Ans. (@9

53. Name the international financial institution
which controls the exchange value of currencies of
different countries

(A) Federal Reserve system of USA
(B) International Bank for reconstruction and
development (C) IMF (International Monetary Fund)
(D) None of the above

@in Sasifes Wil s ffea oo yar s
T W) SRR SR B

(A) TIafaer Fengs @S are (B) sadfe o
AU T WEE 6 RS (C) TORAIMHGE TF0R1 WS
a1 wiasifos yui wier (D) $araa W 71 Ans. (@)




54, An ohject moving with constant speed on a
horizontal surfacc will not have

(A) Velocity (B) Momentum (C) Kinetic energy
(D) Acceleration

of g TSHe o FGRETS T &7 | O A3
bere N A @ Al e e

(A) @i (B) =429l (C) *ffe*f@ (D) T¥9Ans. (@)

55, Where will 7th G-20 Summit be held ?

(A) France (B) Mexico (C) Russia (D) South
Korca

wew 520 T o= (@I SWvS Tar

(A) ¥% (B) i3 (C) Fféri (D) vt ciiaan

Ans. (@

56. Who demarcated the boundaries between
India and Pakistan as the chairman of the Boundary
Commission ?

(A) V. P. Menon (B) Sir Cyril Readeliffe
(C) Stafford Cripps (D) Lord Pethick-Lawrence

ATHE i gum fEwia W afe s o
fEmire S o srafEme

(A) F B3 o (B) w9m ifes aprefgee (C) Bicere
feo (D) @16 coifes =it Ans. (@)

57. The Meerut Conspiracy case was started in

(A) 1929 (B) 1934 (C) 1942 (D) 1931

Dl FgTT WA Y TEEA

(A) 1929 %itsi (B) 1934 51& (C) 1942 A&
(D) 1931 A= Ans. (@)

58, Which of the following is not a unit of length?

(A) Light vear (B) Microa (C) AU (D} Radian

AR (@FWG Wi O @ g

(A) SEad (B) Wiz (C) AU (D) @feam

Ans. (@)

59. Where was 17th SAARC Summit heid ?

(A) Bhutan (B) Maldives (C) Nepal (D) India

1 78R 7 A AT (IR TS TACR?

(A) g5 (B) T8I (C) (19w (D) ©E Ans. (@)

60. The Pir Panjal Range is located in the

(A) Greater Himalaya (B) Trans Himalayan Area
(C) Lesser Himalayg (D) Siwaliks

Taoigm Fifa uf fEares FafEie s wbae

(A) ‘Greater’ fawern a1 Ewfzamz (B) “Trans-
Himalayan® S0 (C) ‘Lesser’ fxiera a1 9gizane
(D) Fraifeie Ans. (@)

61. The Damodar Valley Multipurpose Project
was designed after

(A) Tennessee Valley Project of USA (B) Lena
Project of USSR (C) Amazon River Valley Project
(D) Hwang Ho River Valley Project of China

AR Soeia] 5Ll Al wifFasa frefHRe wee
et wfasfEs =

(A) W gEAEa G Seiw 2w (B) AR
Fil 20EE (C) SWNIEA A7 SRl 2% (D) St @i
(@ AT Ans. (A)

62. Absolule zero temperature is that temperature
where

(A) Water freezes to ice (B) All molecules of
matter come to rest (C) All matter stays in the solid
state (D) Kinetic and potential energies of the
molecules become equal to each other

] 1A Z5 (IR leEl (AR

(A) T &7 FA0E AiReTs 28 (B) “ida s sife
¥ 79 (C) 7E e {5 TPm ArE (D) weffs

sifenfe © Fafenfe A= 7= @ Ans. (B)
63. Name the first Indian State which established
‘Lokayukta’

(A) Maharashtra (B) Andhra Pradesh (C) Bihar
(D) Kerala :

ST (I ATE] AU (FIEHE WO FTAR?

(A) ¥Z% (B) Srwere (C) Rz (D) (51 Ans. (A)

64. Which Indian Leader made a major
contribution to the integration of the princely states
within the Indian Union ?

(A) Acharya Kripalani (B) Govind Vallabh Pant
(C) Sardar Vallabhbhai Patel (D) Hare Krishna
Mahatab
el 4 Y TwH et

(A) @B FoifFRl (B) (fw ame A (C) R
amoeiy #nd (D) WEFE 2T Ans. (C)

65. What does the term ‘sovercign’ imply ?

(A) Free from external control (B) Free from
internal control (C) Free from territorial disputes
(D) Free from control by any international body

e’ *aa @ B e

(A) @R e (A Ie (B) Sreedi g
(2 Y@ (C) Al F=ifFe fed (9F ¥2 (D) &
TaEiies 7R g @ Ans. (A)

66. A clear picce of glass immersed in glycerol
cannot be seen separately because in comparison to
the refractive index of glycerol. the refractive index
of glass is

(A) Greater (B) Lesser (C) Nearly equal (D) This
does not depend on refractive index

farare Frftsrs «ofb W TS SjATeNa Pia=
a1 @R faErer afssTes Fime dieTirssa e

(A) G (B) @3 (C) grl 7 (D) @ft afewmissd
T SR IT@ W Ans. (C)

67. The material extracted from bauxite is

(A) Aluminium (B) Alumina (C) Biotite mica
(D) Chalcopyrite



‘Bauxite’ (20 s 7o Sl 20

(A) wEfufm (B) srEfie (C) ARBRE we
(D) FIEEI=ZAEE Ans. (@

68. In which year did the Muslim League pass the
Pakistan resolution ?

(A) 1916 AD (B) 1929 AD (C) 1940 AD (D) 1946
AD

@ 7 PR A AifEEE wwr e FEfeE e

(A) 1916 iz (B) 1929 Tz (C) 1940 Tz (D) 1946
EiE Ans. (@

69. Name the international body which is the
predecessors of UNO for maintenance of world peace

(A) International Union of Nations (B) Union of
Nation States (C) League of Nations (D) None of the
above

e 2P CFCE BT, &, .3 W (3 WG e

(A) w9z Igefare fr weEifes el
(B) Tifersmisifera A (C) Alsi W 7P (D) THlTe
(EoE 7E Ans. (@

70. Calculate the sheilding suffercd by valence
clectron in fluorine

(A) 520 (B) 4-80 (C) 5-80 (D) 4-85

e @ere Faeger fifes-aa sifans

(A) 520 (B) 480 (C) 580 (D) 485  Ans. (@

71. With which country did Bangladesh sign a deal
on 2nd November, 2011 to build its 1st Nuclear
Power Plant ?

{A) China (B) Russia (C) India (D) France

2 ATTEF 2011 FENHS (Fi9 (AT AR 7

(A) = (B) @ (C) ©e (D) ¥ Ans. (@)

72. River Narmada flows through a |

{A) Synclinal valley (B) U-shaped valley
(C) Fault trough (D) Delia

wtw w7 waifEe T Frafiie Seiee fa

(A) *Synclinal’ $#e131 (B) U-WISIa3 B4CF|
(C) pife @t sif¥e Tefer (D) 3419 Ans. (@

73. The Indian Government is refusing to give
clearance to POSCO’s proposal of constructing
' (A) Iron and steel plant (B) Aluminium plant
(C) Copper plant (D) Petrochemical plant

139 W31 ‘POSCO’ AT (TAIBNT FI4NE
fersfafire st s2ens S e

(A) Tz T=irs Frs (B) wowfafems e (C) e
a4 (D) Tos apiaias R Ans. (@)

74. Which of the following waves is used for
telecommunication ?

(A) Infrared rays (B) Ultra violet rays (C) Micro
waves (D) X-rays

RTINS &= (1 LA0E Tae GIZR 41 20 7

(A) SRS 3 (B) wfera i (C) Wi sai
(D) X-at1 Ans. @

75. Mark the correct date and year in which India
Constitution came into being

(A) 15th August, 1947 (B) 24th July, 1948 (C) 20th
January, 1951 (D) 26th January. 1950

wRCs HRYE b5 gen Je 7E ¢ okl 2#

(A) 15 =515 1947 (B) 24 TF1Z 1948 (C) 20 SWaH
1951 (D) 26 SRET 1950 Ans. (@)

76. Who was the British Prime Minister when
India received independence ?

(A) Ramsay Macdonald (B) Clement Atlee
(C) Lloyd George (D) Winston Churchill

erTea e T G gl @ freay

(A) NG RTETS (B) @RS Qi (C) HEe
&% (D) TEr 51 A Ans. @

77. The incomes of A and B are in the ratio 3: 2
and their expenditures are in the ratio 5 : 3. If each
saves Rs. 1000, then B's income is

(A) Rs. 3000 (B) Rs. 4000 (C) Rs. 660 (D) Rs. 800

A S B-9F GIAT WP 557 20 2 @5 1 3 25 TS
LAY TS | TR ATSHE 1000 Tidt 73 TR, THA
B-a9 &Y 75

(A) 3000 B/ (B) 4000 57t {C) 600 T (D) 800

gl Ans. @)
78. Where will Cormmonwealth Games 2018 be
held 7

(A) Hambanota {Sri Lanka) (B} Gold Coast
{Australia) (C) New Delhi (India} (D) St. Kits

2018 FFE FICTHAY Y1 (T ST TAY

(A) TR (Siaest) (B) (7% (@78 (WEfhn)
(C) gw 7 (e1we) (D) 7% 5%, Ans. (@

79. When a positively charged conductor is
earthed. then

(A) Electrons flows from the conductor to the
earth (B) Protons flow from the conductor to the earth
(C) Electrons flow from the earth to the conductor (.}
Protons flow from the earth to the conductor

IS KA SifEe 9af ARage gmay o &

(A) ARl (AF g-4P LEF GA US43
(B) “ARQIZ! (A0 oL (21 241fEe T3 (C) T (Ui
RIS BTG 2AITS 20 (d) §-5§P (47D ARAES
(o1 waifEs =3 Ans. @)

80. The Western side of the Western Ghats is a

(A) CHliff (B) Autochthonous Nappe (C) Fauli
Scarp (D) Rocky Outlier

“fffsaRiha sifoufre fuffie gae am sie
(A) ‘Cliff’ (B) *Autochthonous nappe’ (C) ‘Fault
Scarp’ (D) ‘Rockey outlier’ Ans. ‘



81. Name the outstanding Dalit Leader ot India
who had renounced Hinduism and embraced
Buddhism at a later stage of his life

(A) Jagjivan Ram (B) Bhola Paswan (C) B. R.
Ambedkar (D) None of the above

wfie (EIMa WA (@ SIS el o @@
(e 7 F(IA s

(A) T5FT@ A (B) (o A (C) . @,
wEeed (D) $oEe (FWoE a8 Ans. @)

82. A man walks 10 metres in front and 10 metres
to the right. Then every time turning to his left, he
walks 5. 15 and 15 metres respectively. How far is he
now from his starting point ?

(A) 10 metres (B) 5 metres (C) 15 metres (D) 20
metres

9% aife A o 10 fbm 210m o sl 10
i 21551 | Tavis aforsta i qra varet 5, 15, ¢
15 f55m 257 | el awm F@ veam (e o i Wi

(A) 10 BBz (B) 5 B (C) 15 6m@ (D) 20 o=

Ans. @)

83. CTBT is a term associated with

(A) Nuclcar Weapon (B) Central Taxes
(C) International Terrorism (D) None of the above

fRfbfaf® <= v2

(A) =@ Tr%a Wwl (B) (FEW 9 IR W
(C) SiTiiea Rewama "l (D) Soare (Fmicg «1

Ans. (@)

84. Gold has extraordinarily high density than
silver, the reason is

(A) Higher mass number of gold (B) Higher
atomic number of gold (C) High screening effect
{D) Lanthanide contraction

(M7 978 3717 $owid wEieide cdl—ard

(A) 371 E=T CIRTE Szl (@41 (B) 391 o
(FWIA AR Jen @61 (C) B efeawe TmehE
(screening effect) @@ (D) FALREE HAITHA

Ans. (.)

85. When did the Royal’Indian Naval Mutiny take
place ? \

(A) December, 1944 AD (B) February. 1945 AD
(C) February, 1946 AD(D) August, 1946 AD

SRS MEE W AR fArag I

(A) 1944 <iz-a fEraa (B) 1945 Jz-¢ (wqura
(C) 1946 Tiz-2 (gl (D) 1946 Tiz-a W55 Ans. (@)

86. Mark correctly the precise meaning of the
tzrm Habeas Corpus’

(A) To put the body behind the prison bar (B) To
have the body (C) To remove the body (D) None of
the above

“cafaam @ b wie g

(A) @ feE @rem foea wbe o (B) @
AerE WEIE SeFes @4 (C) W AfeE wvimEY 2
(D) Eoitaa @mioE = Ans. @

87. There are 100 questions in a question paper,
cach carrying 2 marks. But there is a negative
marking : 1 mark is deducted for each question
answered incorrectly. A student answering all the
questions got 80 marks. The number of questions
correctly answered by him is

(A) 70 (B) 60 (C) 80 (D) 75

&b epeia 1006 2 T9caa o wce) ofeld Afe
Taraa T 2 799 (W61 3(A WG §E BEad T 1 A%
01 T2 | 9FT- Tq 7R A0HA TEa I03 80 794 (97 |
7l % ol %@ Tea srafeEe

(A) 70 (B) 60 (C) 80 (D) 75 Ans. @)

88. The Indus river rises near

(A) Sheshnag Lake (B) Bhimtal Lake (C) Lake
Nasser (D) Manasarovar Lake

iy a1 Seoiferes o

(A) CsT5191 2% (B) SIN®FE 2% (C) A 7w (D) T9%
AR ER Ans. (@)

89. Proteins are detected by

(A) Molisch’s test (B) Biuret test (C) DNP test
(D) Benedict's test

cefbm =eear Sarw za

(A) =fataa #dvs (B) fASwb «ift=w (C) & @x {3
“@1F (D) @Eferga «i8r Ans. @)

90. 1st UN agency which has appointed Pallestine
as a full member

(A) WHO (B) UNESCO (C) UNDO (D) UPU

AEELET (T HOL UYL PAEBRAS o5 79 T
e FTarey

(A) ©a=. W%, 6. (B) %8. @4, 3. 9%, 5. 8 (C) ¥B.
aq. fe. e (D) %8, 4. 38, Ans. (@

91. Who was the Editor of *Hindu Patriot’ ?

(A) Harishchandra Mukerji (B) Krishna Kumar
Mitra (C) Bipin Chandra Pal (D) Shivnath Shastri

o (=fhub” vfaem w=ive @ faEar

(A) gl Jra=iar (B) gaigama g (C) ffombm
w1d (D) W =g Ans. (@)

92. The verdict of Supreme Court in which one
of the following cases has made the imposition of the

President’s rule in any State under article 356 of
Constitution difficult ?

(A) A. K. Gopalan Vs. Union of India (B) & R.
Bommai vs. Union of India (regarding the State of
Karnataka) (C) Kaveri water dispute case between
wwo Southern States (D) None of the above



!

frs afffe s s (o R JEN @08
AME (@A ACE WREAR 356 Qi S| AZATS “rE
9] 391 g AP 500 BT T

(A) €. (. (SNHIE < SIS FASK (B) 9. W&
Wﬁm"ﬁrwwcﬁ*ﬁswm) (C) ¥z
57 2% Weifde q3 wFEd arerE T (D) SHEE
@oe @

Ans. (P)

93. In a certain code KOLKATA is coded as
11151211012001. How BENGAL is coded ?

(A) 020514070112 (B) 023014210311
(C) 031721250710 (D) None of the above

KOLKATA-( F@fesend 11151211012001 (&=
%775 BENGAL-@ & 541 gar

(A) 020514070112 (B) 023014210311
(C) 031721250710 (D) @@ (FFHE 7@ Ans. (§)

94. The expression of average speed of a gaseous
molecule is
[$KT

() =L 8) \F? © BT (p) {2

ﬂfﬁﬁﬁﬂ@ﬂ@ﬂ?ﬁﬂwwﬁw@mw

(A) 1‘3RT (B) ’ZRT (©) \SRT (D) \}8:;:{1‘

Ans. (@)

95. Who recently resigned from the Prime
Ministership of Greece ?

(A) Lucas Papadons (B) George Papandreon
(C) Pctsalnikos (D) Markel

& Seife MR due=gE oF Sl S 2

(A) FFF #if7 (B) & (o151 (C) (AGHAMST
(D) & Ans. (@)

96. Who came to be known as the “Father of the
Indian National Congress ?

(A) W. C. Bonnerjce (B) S. N. Bancrjee
(C) A. O. Hume (D) Mahatma Gandhi

SIACEA TS FAH T ACA (@ Afoe weafgam ?

(A) Tg. B @G (B) . @ EIET (C) €. €.
ZEW (D) TZRI1 Ans. (@

97. The river Ganga flows into the Bay of Bengal
through

(A) A triangular delta (B) An estuary (C) ‘Birds
foot” delta (D) qult line

sttt acenepTea fMafatie giugiem ww e
SCIER X

(A) a4 (B) 931 (C) ‘Birdsfoot’ 2-4&1% (D) pife
a0 Ans. @

98. Choose the correct name of the Union Home

Minister who had introduced Indian Administrative
Service in 1948

{A) Sardar Ballavbhai Patel (B) Gobinda Ballav
Pant (C) S. B. Chavan (D) Krishna Mcnon

sETes d9y FAGNE! G 1048 WA wiE. @ 9w 5

(A) #4 IESEE 6 (B) Cfewame = (C) @7,
fa. /@ (D) 9 A Ans. (@)

99, How many gms of a dibasic acid {mol wt 200)
should be present in 100 ml of its aqueous solution
to give 0-1 (N) Strenght ?

-(A)2 gm (B) 1 gm (C) 10 gm (D) 20 gm

@&f% 100 ml eTE wac Fo5! e o3l e
wifFTe (Sife eww 200) @9 3= Ta w39iba WAt 041
(Ny=ae

(A)2gm (B) 1 gm (C) 10 gm (D) 20 gm

Ans. (5)

100. Who was the President of the First session
of the Indian National Congress ?

(A) Dadabhai Naoroji (B) W. C. Bonnerjee
(C) Feroze Shah Mchta (D) S. N. Banerjee

Trarea Tel IWACE Y9 WHENGR TSNS (@
farsme

(A) wmTeTR GTieE (B) 31 & @mig (C) feareig
el (D) @7, O%. FE T Ans. (@

101. The next term in the sequence 4, 10, 22, 45,
< IS

(A) 66 (B) 76 (C) 56 (D) 94

4,10, 22, 46,...... 7fes *jas

{A) 66 (B) 76 (C) 56 {D) %4 Ans. ()

162. After drawing the salary, a man deposited
10% of the sum in a bank and then paid 4% of ths
remainder as house rent. If he draws Rs. 500G, the
sum he paid as house rent is

(A) Rs. 160 (B) Rs. 250 (C) Rs. 180 (D) Rs. 225

GG R AR 10% A0S G TN A TR
B 4% arerere fre 1 i T 5000 T, @,
Bret arGrere! frse ¢

(A) 16051 (B) 250511 (C) 180511 (D) 225 b=l

Ans. (C)

103. Mention the year in which Indo-Soviet
Friendship Treaty was signed

(A) 1956 (B) 1980 (C) 1975 (D) 1971

SEe-CifATs Nalpie (@ A7 Frefas 20 7?

(A) 1956 (B) 1980 (C) 1975 (D) 1971 Ans. (@)

104. Which one of the following is a thermoplastic
polymer ?

(A) Rubber (B) Nylon 6-6 (C) PVC (D) Bakelite
frare @ cwisift Qe ¢

(A) 7@ (B) 7l2sW 6-6 (C) PVC (D) ([(eTE5
Ans. (@

!.(__



05. In which ancient text do you find the earliest
le;cc to the Varna System ?
refC-A) Manu Samhita (B) Rigveda (C) Atharva
( (D) Satapatha Brahmana
Veda ﬁrﬁam i aon( T AL Trmd Sren my
I ~
{‘f\) 5 7S (B) %0 (C) Wefiaw (D) xrowidl e
Ans. i 1 H . . y "
106- who edited the journal ‘Bande Mataram’ in

9
VPﬂ"SA' mMadame Cama (B) Shyamaji Krishnavarma
: (Lfi"a Hardaval {D) Bhupen datta
O o o o @ i weay
3 (A) TS S (B) SIS Rl (C) AT ZavEE
e 7S Ans. (@)
(%) ?)7 EL Nino in the Pacific
&1 [ncreases monsoon rainfall over India
Decreases monsoon rainfall over India
() Increases cyclones over Bay of Bengal
(D) Decreascs cyclones over Bay of Bengal
(A) GTPI 3TBeIT 3T (B) TP qfRenre 2
% (©) FreAneAITA TG 4R 90a (D) Ao
oG T S Ans. @
168- Female Literacy rate of West Bengal in 2001
518
Ce“(s:; (4:5% (B) 53-67% (C) 43-8% (D) 50-5%
AT SRR TR 200199 O S TR
(A) 64-5% (B) 53:67% (C) 43-8% (D) 50:5%
Ans. @)
109. The cnzyme "DNA gyrase’ is associated with
the function of
(A) Protein syntheses (B) DNA replication
(C) Lipid biosynthesis (D) DNA damage
| DNA gyrase’ Tl #ER A @ FEa HN0w
kL
(A) cifem % (B) DNA cafeire=ia (C) ffere
P2 (D) DNA-97 %3 Ans. @)
110. Who founded the Gadar Party in San
Francisco in The USA ¥
(A) Lala Hardayal (h) Ajit Singh (C) Lala Lajpat
Rai (D) P. Mitra .
s ywanga 79 Fifaen ovwe o1 @ ufewl
- graA?
(A) & zavle (B) wiers Bizg (C) @i wiesie 9/
(D) B Ans. (@)
111. Who composed the Allahabad Prasasti of
gumudragupta ?
(A) Kalhana (B) Bilhana (C) Banabhatta
- (p) Harisena

FAUSTAF SFIEEAW % F1E bl ?

(A) 9572 (B) etz (C) a1 (D) 2zt Ans. (@)

112. Name the author of the book ‘India Wins
Freedom’

(A) Maulana Abul Kalam Azad (B) Sardar
Ballavbhai Patel (C) Gobind Ballav Pant (D) None
of the above

“Ffem T fTen” aifbe wofrer e

(A) CTieTH O-E IEN WEw (B) M9 IEewz
ABA (C) oifa™ ame o7 (D) Toiaa (FTE 4=

Ans. (@)

113. The presence of pnematophore (breathing
root) is found in .

(A) Mangrove plants (B) Epiphytic plants
(C) Hydrophytic plants (D) Insectivores plants

frndsicea (eie)-aa BefFefe ot T

(A) Tmrars Bfgm  (B)  afeRRlls  Sfgw
(C) ZRrEeEhE S (D) wonirerd) B Ans.-(@)

114. Lateritic soils of India are

(A) Rich in iron (B) Rich in humus (C) Rich in
basaltic lava (D) Rich in uranium

wrRrEd HorARbe yfee Fufe e s=m

(A) CTIZ 3 *Y¥ (B) TZ8ART @ 3% (C) "ich
et Ty (D) T W Ans. (@)

115. If CABLE is coded as XZYOV. a possiblc
decode of YZXP is

{A) BABY (B) BACK (C) CELL (D) BELL

At CABLE-a7 7iezef@ife &1 XZYOV @ YZXP
S8 HEE) A2 ,

(A) BABY (B) BACK (C) CELL (D) BELL

Ans. @)

116. Who was the Kaivartta chief who rebelled
against the Pala ruler Mahipala 11 of Bengal ?

(A) Dhekata (B) Gandhata (C) Divya
(D) Mayuraddhvaja

A SeReIE A fow wEiviem Ry Rz
FaE (e (3 fgam e

(A) &@Tst (B) sidret (C) frar (D) wygwas

Ans. ')

117. Who made an atiempt on the life of Lord
Hardinge in 1912 2

(A) Rashbihari Bose (B)
(C) Khudiram Bose (D) Ajit Singh

1912 105 =8 2Erea 7@ (@ wawe sk ¢

(A) FrfEEl 35 (B) esie B2 (C) wfaam cam
(D) =fee . Ans. (@)

118. The Constitution of which one of the
following countries conventions play a prominent
role ?
~ (A) US Constitution (B) French Constitution
(C) Indian Consuitution (D) British Constitution

Bhagat Singh



-

s Srafve omisjferm woay (e roeim <R 2isfe
BB =6a% sgejel gii #iem a7

(A) Trafaem wefaqi (B) wartt #efRum (C) wre
#<faam (D) @b Afam Ans. (@)

119. The “Theory of Natural Sclection’ was
proposed by

(A) J. B. S: Haldane (B) G. J. Mcndel (C) A. I
Oparin (D) C. R. Darwin

uigles fdvn o6 ha w<w 2w

(A) (=R 9% 2= (B) fa. (5. oiesi (C) 9. 9l
efEm (D) B, W=, Tradia Ans. (@)

120. The Black soils of Maharashtra are called

(A) Regolith (B) Khadar (C) Regur (D) Bhabar

(A) et (B) ¥ (C) (298 (D) ©RE Ans. (@)

121. How many 9s are sandwiched between 6 and
7 in 696996679669779667 ?

(A)Y2(B)3(C)4 (D)5

696996676979669779667-47 T4 T894 9, 6 933 7-
99 WAl ACa! BeE oG Mitew e

(A)2(B)3(C)4 (D)5 Ans. (@)

122. The Act of 1919 is known as

(A) Rowlatt Act (B) Morley Minto Act (C) Mont
Ford Act (D) Simon Act

1919 =it =% & @ «ifife fme

(A) 5B =g (B) 9=-505 =g (C) 95-cur wird
(D) #fE=w =573 Ans. (@)

123. Xylem tissue is mainly concerned with the

{A) Photosynlhesis of plants (B) Transport of
water and mineral nutrients in plants (C) Storage of
prepared foods in plants (D) Transport of enzymes
in plants

GigTE 5 gaee FER

(A) Efgrm wraR wisersd s (B) Sfema e o
Wfe «m wifaazeE e (C) Sfemra Sesfie wmmma

el fErte (D) St Serine sifaascaa we

Ans. (B)

124. What is the proper connotation of the term
“sgeularism’ 7

(A) The State is the patron of all religions (B) In
th¢ alfairs of Governance and formulation of State
Policics the State is not guided by religious
considerations (C) The State should promote
dominant religion (D) None of the above

gifarerwe’ @ geba sive ourem

(A) 1% (@A 73 3t snweie wuea 73 (B) 413
Aife wnm ¢ «pis R com gty B e s
T () AR 2T TEPFe 457 A @A +ifaey
ara (D) Toram (g Ans. (@

£A=
125. Who among the
“Lichchavidauhitra® 9
(A) Samudragy 1
A agupta (B andragupt:
(©) }\umaragupm (D) s;(mida}uug[';md] WS
JERAHE (e 57 © 5 2
?X);:g:i}m Rty am +Ghs fogemer
kel )%;:};3."_ TS ) :
At (@) ) RO BEY (C) FARTY (D) TW Y
~ 126. Three times
micgers is 3 more
third integer ?
(A)Y9(B) 1s (C) 13 (D) 11

12 o Rrers weapa Uemiba femsl wemba vz
LT BIRC 3 G, St ey are ¢ -

(A) 9 (B) 15 (C) s '

peedgl (C) yo (D) 11

127. The plant bod
root, stem and leaves® ip

(A) Plcritlophylcs
(C) Gymnosperms (D) Algac

T, S ¢ “frer Rerg 7w g Tfew 7z ==

(M) GRemeRise () sane Efgrm (C) wie s
Bfgma (D) tmme= Ans (.)
c-.dﬁ'& .() bYO)r;s are so standing thay hey form a C.ifClﬁ-
S(Lm“ .a-clm:;‘l. c centre. Alok is to the iéh of Probhat,
e is Zju;w}-u;\f\\shnk and Bikash. Hari js between
. an SNOK. Who is (0 the lef i’

. , it of Hart ?

(A) Alﬁk (B) Ashok (C) Sunil (D) Probhat

N d wiam@f@mfa wifSra T | ACTCER Y4 JEE(wa
WIS | SR WSy sreiren e | 5T g s
< ReItes W 1 2R v T 5

2 TETATR ST & wreirasa w7l | 55
e (F Ty SRS
(A) @it (B

Ans. ()

129. Which incident
call for the Suspensj
movement in 1922 9

(BJ(?W)IM:IO.%; violence ip Chaurichaura
% al ‘R walabagh massacre (C) Chittagong
moul_v_ aid (D) Foundation of the Swarajya Ib"d“;
r‘(,?J‘-T-‘I ool MR 9irE e 1922 s smiggas @ "m
TS ARTS A4 Tz o «
. e
(A) COTIRTBTaT =i fegoqy (3 SR e ToRe
(C)ﬁ;;ﬁwﬁﬁ?l T (D) %25y oifn =RodiAms, @
30.° ]n,.lolal mass of all the Organisms of a given
lypc and or in a given areq is calied ‘
(A) Biome (B) Biomass (C)
(D) Biosensor

9% T2 w2t aqe iy on =0 e gmm
= e A0 @9y /weq) g S0 g s T W
SRR aE am

(A) ITAM (B) =z (C) At (D) anarsma
Ans. (@) c

Gupta rulers was known as

the ﬁrs} of three consecutive odd
than twice the third. What is the

¥ Is not “differentiated into

(B)  Angiosperms

) S (C) T (D) rers

forced Mahatma Gandhi to
on of Non-Cooperation

Biomaker



131. The Khalimpur Copper Plate informs us
about the millitary exploits of the Pala ruler

(A) Devapala (B) Rampala (C) Dharmapala
(D) Mahipala |
R SRS A2

(A) CR#1E (b) A= (C) «l=irs (D) 29w WE1#15

Ans. (@)

132. Which incident in colonial history of India
marks the first war of independence ?

(A) The peasant uprising at Chaurichaura
(B) The Naval Mutiny of 1946 (C) Chittagong
Armoury Raid (D) Sepoy Mutiny in 1857

ST SeifAralie Yo (e WAl TRrea gew
TSl T AT 9op T W2

(A) Gt 8¢ SgrdW (B) 1946 AIER 1 far
(C) 6B wwsia e (D) Fistifz facarz (1857 we)

Ans. (@)

133. In which Congress session was the demand
for complete independence first made ?

(A) Nagpur (B) Amritasar (C) Lahore
(D) Calcutta

W F2 SiErE s widlen widl gew Tifee
7

(A) 7isi7js (B) Tgov (C) Siita (D) S5re]

Ans. (@)

134. Neem is a

(A) Tropical Wet Evergreen Tree (B) Tropical
Moist Deciduous Tree (C) Tropical Dry Deciduous
Tree (D) Tropical dry Evergreen Tree

forasiz 2o

(A) T18R =iy fazfas sig (B) S @iy s{wib!
5z (C) FST W #<r1d! sitg (D) T 7 fHazfae iz

Ans. (@

135. Adult Filaria worms live in human

(A) Blood (B) Lymphatics (C) Liver (D) Intestine

- spfoteny Wizl F6 TGLE @ W TOU I

(A) 72 (B) @iPRMIA! (D) 3§ (D) W2

Ans. @) \

136. Who was the author of the book ‘Tarikh-i-
Firuz Shahi’ ? .

(A) Abul Fazl (B) Minhaj-us-Siraj (C) Ziauddin
Barani (D) Al Biruni

o 2-frgel sl mfirel o e

(A) A FeE (B) fmere-Ba-Hiara (C) feramgfn
/M (D) i gl Ans. (@)

137. If a 4 digit number a 381 is divisible by 11,
what is the value of a ?

(A)S(B)6(C)7(D)8

5/ Sed (6 .2 a381 T 11 gt [ers) 78 93
a-99 WF T ?

(A)5(B)6(C)7 (D)8 Ans. (@

138. A high birth rate is associated with

(A) A high female literacy rate (B) A low female
literecy rate (C) A high male literacy rate (D) None
of the above

T Tz frsre oW Realba s widge

(A) =fZz Aramem SwzR (B) wize R ez
(C) =58 wireasia TwaE (D) SHEe (@itE 7

Ans. @)

139. Who raised the slogan ‘Long Live Revolution®
in the Central Legislative Assembly, Delhi ?

(A) Bhagat Singh (B) Rashbihari Bose (C) M. N,
Roy (D) Lala Lajpat Rai
HigHe! I0F (F Wi grafaem R

TS e
(A) ®oie Bz (B) a=fag@ 35 (C) @9, @A, i
(D) =& & qm| Ans. @

140. The disease caused due to lack of ADH

(A) Diabetes insipidus (B) Diabetes mellitus
(C) Grave’s disease (D) Cushing’s disease

ADH-93 weid & @eife 3 =

(A) eranals Tafkleren (B) eras fEcm
(C) csre~aa @19l (D) $Fi-93 @ Ans. (@)

141. Sal is found in

(A) Hooghly district of West Bcngal (B) Howrah
district of West Bengal (C) Bankura district of West
Bengal (D) Malda district of West Bengal

“if¥Gu e oM sfeH TR

(A) 3518 (T (B) ST (e (C) 1§06 (o
(D) W= (&R Ans. (@

142. Who led the Muslim deputation at Simla in
1906 ?

(A) Salimullah
Ali (D) Saukat Ali

1906 s Fiweamn gwfay wfsfifmvieas & @oe
frrafere ¢

(A) ez (B) ©isil ¥ (C) 92 @i (D) e
== Ans. (@

143. A sum of money kept in a bank amounts to
Rs. 1240 in 4 years and Rs. 1600 in 10 years at simple
interest. Find the sum.

) Aga Khan (C) Muhammad

(A) Rs. 1000 (B) Rs. 800 (C) Rs. 1050
(D) Rs. 1100

g Bt AT 737 307 AT %5 [ 4 TG H-SIAE
1240 B/l 251 @R 10 I89 H{m-SPEa 1600 5 26
Wﬁ@@l

(A) Rs. 1000 (B) Rs. 800 (C) Rs. 1050
(D) Rs. 1100 Ans. @



144. Who was Todar Mal ?

(A) A minister of Sher Shah (B) A revenue
expert in Akbar’s Court (C) A prince of Mewar
(D) An officer in Jahangir’s army

(Bren W& (& fremie

(A) CIPITZR 93T TZ] (B) SRR TETER GG
FmElREEE {erEw (C) (W3INI3 9 1w 4@
(D) BRI GRRIRTR GG G

Ans. (@)

145. Which one of the following is a viral disease ?

(A) Trypanosomiasis (B) Giardiasis (C) Ence-
phalitis (D) Oriental sore

e g @R SRarEiEs @l

(A) TERemmenfrite (B)  ufEntm
(C) @ r=wERbA (D) et 9 (oriental sore)

Ans. (@

146. Hindu law of inheritance is responsible for

(A) Low productivity of land (B) Non-application
of scientific mode if farming (C) non-availability of
irrigational facilities (D) subdivision and
fragmentation of land holdings

fa Teaifien wizn ferr o Wil e

(A) Thim 0 Seomrael (B) e taarf
S e At 3@ (C) &5 GF JE e 71
(D) %5 8 (&te Giurs Feiem ¢ fEwwad Ans. (@)

147. Joint Forest Management was first successful
in West Bengal in

(A) Paljhari village of Medinipur district
(B) Bhula village of Bankura district (C) Natunbandh
village of Bankura district (D) Arabari village of

- Medinipur district

Y 3 5w udw ARCHALT 2N TLE T

(A) cfiteraa #anfd e (B) 99T Gela
(C) dipera Agaaw At (D) cifvlsicaa srararfd s

Ans. (§)

148. Name the workers organisation founded by
Mahatma Gandhi

(A) Indian National Trade Union Congress
(B) Majoor Mahajan (C) All India Trade Union
Copgress (D) Workers’ Welfare League

) efefe wfite Aot A

fA) SETSE TS (GT 28WAA F2 (B) TS7 WZIe=
(C) -eidia G 2Tfhaa s (D) S SEaEyE
Al Ans. (.

149. The non-poisonous snake is

(A) Viper (B) Krait (C) Python (D) Coral Snake

fagia e ==

(A) %71 (B) &6 (C) W52 (Python) (D) ¥4
Hi#l (Coral snake)

Ans. (@

150. Who was Nasiruddin Chirag ?

(A) A sultan of the Khilji dynasty (B) Sufi Saint
(C) A minister of Giyasuddin Balban (D) A military
officer in Alauddin Khilji's army

aifigfam foas & fgem e

(A) [4=1fE 2 s FjErow (B) 9 i 56
(C) Frarifim FeRT eem T3t (D) WEeim Refem
CARIEAR GG T Ans. @

151. A clock strikes once at 1 O’clock, twice at 2
O'clock..ccicciias twelve times at 12 O’clock. How many
times will the bell be struck in course of 2 days ?

(A) 78 (B) 264 (C) 312 (D) 144

oz 9% 1 wfenm 1 ar o5 asy, 2 wiem 2 am
B! AT, wvrrrrren 12 9@ 12 IR I3 IEE, MEh 2
At FeaR T WA ? ‘

(A) 78 (B) 264 (C) 312 (D) 144 Ans. (@

152. Annual population growth rate of India
between 1991 and 2001 is

(A) 3% (B) 193% (C) 4% (D) 2%

wrEEa 1991-2001 Frea e swyfua 7@ T

(A) 3% (B) 1:93% (C) 4% (D) 2%  Ans. (B)

153. Normal human blood is

(A) Acidic (B) Alkaline (C) Neutral (D) Variable

(A) @5 (acidic) (B) %9 (Alkaline) (C) eifire
(neutral) (D) #f&a$i5 (variable) Ans. (@)

154. If 3 mangoes are sold for the cost price of
Rs. 4, the profit is ,

(A) 16'.% (B) 33',% (C) 33,% (D) 40'/,%

Tl 3% =i 459 s Rey s @ SR ae @

(A) 16'.% (B) 33Y,% (C) 33'/,% (D) 40'/,%

Ans. (@

155. Who was the founder of Anushilan Samiti ?

(A) Aurobindo Ghosh (B) Barin Ghosh

(C) Barrister Pramatha Nath Mitra (D) Chittaranjan
Das

TR e Ahifea wfswre @ fRreme
(A) S (B) a4 (918 (C) i e e
(D) foeag Wi Ans. (@

156. Who was the last ruler of the Delhi
Sultanate ?

(A) Alauddin Alam Shah (B) Ibrahim Lodi
(C) Bahlul Lodi (D) Sikander Lodi

fadia JerorEa o =E & e

(A) SIS S *M1E (B) 2a1f& @i (C) Agep
@Rl (D) Femm @l Ans. @)

157. the animal group that is not found in marine
water :

(A) Mammals (B) Amphibia (C) Reptiles
(D) Aves



@ AFITsrE) Y SE Aled TE

(A) T (B) T4 (C) 7Py (D) %1 Ans. @)

158. Which group of the society is worst affected
continuous inflationary price rise ?

(A) Traders and merchants (B) The investors
class (C) Self-employed group (D) Fixed incom group

TG (W (W7 T Fass u-Rfesie
s G Faea (1 e z e

(A) @@ qfde) «fasEaR §e WEEES
(B) fafFcaee® (et (C) Fréa coimdia Tipas (D) P
WA WG Ans. (@

159. Literacy rate of West Bengal in 2001
Census is

(A) 57% (B) 75% (C) 64-84% (D) 60-79%

sifessrarea FEER 21 2001-93 G SeA] T0R

(A)57% (B) 75% (C) 64-84% (D) 60-79% Ans. (@)

160. Where the Azad Hind Fauj was first
established 7

(A) Tokyo (B) Rangoon (C) Singapore
(D) Bangkok

wrEw T (s (SR g il T

(A) (Gif$e (B) o (C) Fiesn=a (D) e

Ans. (@

161. In which South Indian City was the first
Metro flagged, which is called “Namma Metro” ?

(A) Bangaluru (B) Hyderabad (C) Chennai
(D) Thiruvananthapuram

Wi SRTSA (W] 120 YT (NG (A4 bTe ZACR TR
R I

(A) @ (B) TawaRM (C) (5 (D) fegemsa
Ans. (@

162. Who was Babur’s main adversary in the
battle of Khanwa ?

(A) Mahmud Lodi (B) Himu (C) Rana Sanga
(D) None of them

AT Y ARAER A efeorE (@ farame

(A) TrEgw cEFin (B (C) 76l 39t (D) atd (82
Y Ans. (@

163. the salary of A}\up is 30% more than that of

Rarun. Find by what percentage is the salary of Barun
less than that of Anup ?

(A) 26:12% (B) 21:23% (C) 23:07% (D) 27-03%
e WG 90 (ATF 30% A1, agrera S
LA (U0 TEEF TS FA?
(A) 26:12% (B) 21-23% (C) 2307% (D) 27-03%
Ans. (@

164. What is capital ?

(A) Money is capital (B) Machineries and
building constitute capital (C) Capital is produced
means of production (D) None of the above

AL IS AA?

(A) <2 Yoea (B) (ufmifa TGt He2 T
(C) Teigm 2=t Beomia Besifirs Soad (D) St
Canlit Ans. (@

165. Which Indian State was hit with 53
magnitude tremor recently ?

(A) Himachal Pradesh (B) Assam (C) Gujarat
(D) Sikkim

s sEres (@ e @4br (e 53 s«
T TPT TOACRY

(A) festis= 2ot (B) =i (C) s[&4is (D) Fifew

Ans. (@)

166. Indigo Revolt was regularly highlighted in

(A) Hindoo Patriot (B) Times of India
(C) Statesman (D) Englishman

(A) &% (oilGats (B) bz = 2feam (C) G
(D) T Ans. (@)

167. Who among the following visited Jahangir’s
Court ?

(A) Nicclo Conti (B) Francois Bernier (C) Sir
Thomas Roe (D) Athanasius Nikitin

fire Safie fers W @ Tl IEFTeR
apfRgE

(A) e &% (B) wiessral aifrea (C) i B
@ (D) s Fisfes Ans. @)

168. A captain and vice-captain are to be chosen
out of a team having 11 players. How many ways arc
there to do this ?

(A) 99 (B) 110 (C) 90 (D) 22

11 &R (UCARINEE Wl (A0S 96 GRS 8 a5
FEHfTE FeaPTed HdnT T T

(A) 99 (B) 110 (C) 90 (D) 22 Ans. (9

169. National Integration Day is celebrated on

(A) 30th October (B) 31st October (C) 25th
September (D) 29th September

T wHeEfe i oifee 2

(A) 30 WFa3 (B) 31 WFEA (C) 25 GiLeh4s
(D) 29 5= Ans. (@

170. Which of the following factors 1s most
important for future industrial development of India ?

(A) Maintenance of industrial peace (B) Creation
of adequate infrastructural facilities (C) Huge

investment is to be undertaken by the investor class
(D) None of the above



firz 2l @@l srre sfme MamaEe oFa
AR fgwrd?

(A) Féican =nfes < =i (B) “AfRRoTRIerS Al et
% (C) Rfemsrdicr uge [fics s (D) Sofad
(&ibE 718 Ans. (@

171. Who said. “Swaraj is my birthright” ?

(A) Bal Gangadhar Tilak (B) Bipin Chandra Pal
(C) Lala Lajpat Rai (D) Mahatma Gandhi

G WA TS SR —(F AL ?
(A) 3 sieenad fomg (B) Rf%m vt i (C) @
Argefe A (D) ¥l ST Ans. (@)

172. According to 2001 Census lowest literacy rate
in India is found in

(A) Rajasthan (B) Jharkhand (C) Bihar
(D) Madhya Pradesh

2001-93 G SRR SRS T FrFR 2R e
RERCERE IR ()]

(A) FEP2N (B) AMe¥s (C) fz@ (D) Sgavm

Ans. (@
173. Who is the head of the National Advisory
Counctil ?

(A) Dr. Manomohan Singh (B) Sonia Gandhi
(C) Pranab Mukherjee (D) P. Chidambaram

TroM *RErel *{a daEm e

(A) T Tz g (B) wf@ airdl (C) 9o i
(D) f=1. foviraaw - Ans. (@)

174. Which Mughal Emperor transferred the
Mughal Capital from Agra to Dclhi ?

(A) Jahangir (B) Aurangzeb (C) Shah Jahan
(D) Bhadur Shah

(TR CSTioT G Sl (2E WAICS Asam) 7Aigiie
FEAY

(A) TR (B) Seawiisa (C) =1zezH (D) I
g © Ans. (@)

175. In India the sex ratio according to 2001
Census is

(A) 933 females/1000 males (B) 927 females/1000
n‘mlcs (C) 898 females/1000 males (D) 800 females/
1000 males

2001-93 CFFAM SR Slarea Feiere 2

(A) 933 TEY1000 “gF (B) 927 ARV1000 43
(C) 898 #1000 =& (D) 800 /1000 7FE

Ans. (@

176. Define the following functions : f(x, y) =
(x+y)+2,g(x y)=x-y*andh (x, y) = (x-y) + 2,
which of the following has value 0-25 for x = 0 and y
=057

(A) f (x.¥) & (x. ) (B) g(x, ) (C) f(x, )
(D) J(x, y) + g(x, ¥)

36 e Ea A f(x, y)=(x+y)+2.8(x, y) =
-y @B (x,y) = (x-y)+2,2F, Asa @IGa W=
025394 x = 0 932 0:5?

(A) f(x, ) g (x. y) (B) g(x, y) (C) f(x, ¥)
(D) f(x, y) + g(x, y)

Ans. (@

177. The New Economic Policy was introduced in
India in

(A) 1989 (B) 1995 (C) 1997 (D) 1991

SRS 741 GLfAfeF TS b TATR (IR T9A?

(A) 1989 (B) 1995 (C) 1997 (D) 1991 Ans. (D)

178. Who was the Mughal Emperor during whose
reign Nadir Shah invaded India ?

(A) Farrukhsiyar (B) Bahadur Shah (C) Muhum-
mud Shah (D) Shah Alam

(W I AHGA <PAEIE Tz OFe S
AR e

(A) FigafmE (B) A& =iz (C) 29w <1z (D) iz
e Ans. (@)

179. Durand Cup in 2011 was won by

(A) Pune (B) Churchill Brothers (C) Shillong
Lajong (D) Air India

2011 A TAE S GY FECR

(A) 7= (B) vifbsi g (C) Mee = (D) @91
B Ans. (@)

180. Who was the leader of the Khuda-i-
Khidmadgar ?

(A) M. A. Jinnah (B) Khan Abdul Ghaffar Khan
(C) A. K. Azad (D) Muhammad Ali

YA TR (Tl (P e

(A) @u. @, femrz (B) ¥W W s7gwd W= (C) 9.
. WiEm (D) WA i Ans. (@)

181. East Kolkata Wetlands has been declared
as a

(A) World Heritage site (B) Ramsar site
(C) Biodiversity site (D) None of the above

(A) ‘World Heritage Site’ (B) ‘Ramsar Site’
(C) €1 tafbw wew (D) oiare @HoE 78 Ans. @)

182. A can do a piece of work in 10 days and B
can do the same work in 20 days. With the help of C,
they [inish the work in 5 days. How many days will it
take for C alone to finish the work ?

(A) 10 days (B) 15 days (C) 20 days (D) 5 days



9=l F& A 10 W s390s «g, B @ 3w 20 Fw
FACS #AIE, B2l C (& e 9 & @1wi6 5 M ovs 3@
Q TG C-93 GF FA0S Tova F97E 2

(A) 10 = (B) 15 & (C) 20 fm (D) 5

Ans. ()

183. What is the correct figure of average
expectation of life at birth at present in India ?

(A) 45 years (B) 60 years (C) 70 years (D) 65
years

TEANA S 1S WY T ¢

(A) 45 T=a (B) 60 7= (C) 70 923 (D) 65 IA

Ans. (®)

184. Who was awarded the Dadasaheb Falke
A ward for the year 2010 ?

(A) Mani Ratnam (B) Yash Chopra (C) Ritu-
parna Ghosh (D) K. Balchandar

2010 ATER WHMFATZR TIE(E E7 IS o0 340
RAR?

(A) =4 g% (B) ¥ (5191 (C) =g#il a5 (D) &
AETEF Ans. @)

185. The Krishak Praja Party in Bengal was
established by

(A) A. K. Fazlul Huq (B) Muzaffar Ahmed
(C) Abdul Halim (D) Humayun Kabir

AEE FI& v w6 wfow sfem

(A) 9. & T35 ¢ (B) YSEea Ssm (C) Waqs
ZifEw (D) g #3407 Ans. (@)

186. Who succeded Murshid Quli Khan as the
ruler of Bengal ?

(A) Sarfaraz Khan (B) Shaukat Jung (C) Alivardi
Khan (D) Shujauddin

T e e YR e Seandl @ e

(A) FEAE AW (B) AeFe T (C) WERT AW
(D) EEw Ans. (@)

187. *Sundarbans’ has been cited as a World
Heritage site due to its

(A) Tiger reserves (B) Sundari trees (C) Man-
grove trees (D) Biodiversity”

spraRars frsfafe TaREE e *World Heritage
Site’ WA AfgT Fq1 FraTy

(A) A IR G (B) 771 S0 & (C) STz
“ft%d & (D) €13 tafbrara o= Ans. (@)

188. When was Ganga Water Treaty signed
between India and Bangladesh ?

(A) 1994 (B) 1995 (C) 1996 (D) 1997

AT T4y sinirs jig wiifre zrafes

(R AN ¢

(A) 1994 (B) 1995 (C) 1996 (D) 1997 Ans. (@)

189. A number x lies between 0 and 1. Which of
the following is true ?

(A)\>\fx(B)x>-{C)x3>x7-(D)

X' TE 0 99 MaWaaﬁﬂ HeATH
e

{A)x>u’x(B)x> (C)x¥s> x? (D)—>\ix

Ans. (W)

190. At which place did Mahatma Gandhi had the
first experience of mass movement in India ?

(A) Bardoli (B) Dandi (C) Chaurichaura
(D) Champaran

(@ STRA TZI S ST S SIS 99w
fewre! WHH FEH 2

(A) FTaIE (B) BT (C) IfAtsia (D) 5=rme

Ans. O) ' :

191. Who, among the early British rulers,
introduced the system of Subsidiary Alliance ?

(A) Lord Wellesley (B) Warren Hastings
(C) Lord Cornwallis (D) Sir John Shore

YT HTTTA XIS XA WY (& WETS
frger Tifea e swfEm

(A) &E eTTEHAL (B) e (2F5eH (C) &6
alemfam (D) 7| &1 i@ Ans. (@

192. Which country became the 1st State to
reccognise the National Libiyan Council as the
country’s legitimate government ?

(A) Canada (B) France (C) USA (D) Italy

#e (i AR, Flae ed TSfREe o e TR
seaEgLA qigfe fmfeme

(A) #@r8l (B) ¥19 (C) T8, 9.

Ans. @)

193. The speeds of 3 cars are in the ratio2: 3 : 4,
The ratio between the times taken by these cars to
travel the same distance is

(A)2:3:4(B)4:3:6(C)3:4:6(D)6:4:3
36 =iSia sfetarsm Sepaire 21 2 : 3 : 41 & 3% St

GFE Y WfoFN FA0S @ AW (Al O TS TA
(A)2:3:4(B)4:3:6(C)3:4:6(D)6:4:2
Ans. (@)

194. Name the State of India where male-female
ratio is adversely tilted agains the female

(A) Uttar Pradesh (B) West Bengal (C) Punjab
(D) Haryana

SIS (F AT AR1-9{1Ea eifes oiq
Afiegrs wmge

(A) Teaxtw= (B) sifsua®i (C) #igR (D) 2w

Ans. (@)

9. (D) 351

q TFmn



FREVIUUOS TEARO WVETTEETTE =l =

195. One of the important Muslim leaders of the
Swadeshi Movement was

(A) Liakat Ali Khan (B) Liakat Hossain
(C) Muhammad Ali (D) A. K. Azad

U ST S sjgg el spifer Gret fagem—

(A) e wife AW (B) e ciem (C) 94w
wifd (D) 9. 3. wEm Ans. @)

196. Angela Markel is the Chancellor of which
State ?

(A) Italy (B) France (C) Germany (D) Norway

UG TNE (I AR BT 2

(A) Z5if (B) ¥ (C) &l (D) F2€@Ans. (C)

197. Why is 1761 important in Indian history ?

(A) The English Company became the Diwan of
Bengal (B) The Marathas were defeated in the Third
Battle of Panipath (C) Occupation of Delhi by the
English Company’s army (D) Death of Haider Ali of
Mysore

SR BRIt 1761 379 s e

(A) TG @I~ AR (reT 24 (B) AfA=ied
G gy R rE 7@ (C) TEE @A
cRRifENa Tl va (D) wEEa zavm wifa 1y

Ans. (@)

=1,

198. The ratio of the radii of two circles is 5 : ¢
What is the ratio of their areas ?

(A)5:4(B)25:16(C)6:7(D)9:13

b 3083 JPMGA TS S : 4 T(FE O CFIHH
TS TS 2

(A)5:4(B)25:16(C)6:7 (D) 9:13Ans. @

199. A profit of 25% is made by selling an articl
for Rs. 30. If the article was sold for Rs. 33-60, th
profit would have been

(A) 30% (B) 35% (C) 40% (D) 45% )

@b 3% 30 b Ry 309 25% o1e T | 1 e
3360 TR R 341 0 O *roFal I @le Tt

(A) 30% (B) 35% (C) 40% (D) 45%

Ans. (@

200. Which province of pakistan has decided t
make Chinese language compulsory subject in shcos
from 2013 ?

(A) Punjab (B) Baluchisthan (C) North We:
Frontier Province (D) Sindh

ATTRIHA (I 0 2013 31 (4TS Fa ot o

@il #12) Fam Fras Foee
(A) #1871 (B) qEfHeM (C) Tea «ifon Fure oim
(D) By Ans. (@



